| Efficiency vs Dxy |
> 0.2
1% r : : : : : : :
O | N N N N N N N

0 0,18 P e e e
< S A S

R H s S s
Q L : : : : : : :

2 0.14p e o 3 C S
o2

o

eff

C [
Illlpl TT

10 15 20
TP dxy (cm)

50 =15 =10 -5

—— B M_mk I|t_s't'ep2_tt‘gar-prr:ase%-newgeom
ici —_— angle_step2_ttbar-phasel-newgeom
| EfflClency vs Dz | —+— DOQM”fast_ste tfbar-pr?asel-newggom

—a— UélVl_Ol’i i_nal SIEPZ_TDar-pmndasel-newgeom

0.2 —— DQM”pixelCPETemplate_step2_ttbar-phasel-newgeom
N . T ; T X X
© N N N N N

PP SOV NSNS SN S —

L>>\ r : : : : :
c T S Do S (LT
Q 0'162 : : : : :
o - : : : : .
E 014 Frrereree frorereeeee AR IR AR
() L : : : : :
- : : i
0-12__ O o N I |
L& : : :
O e R e S e ] el
C : : e |
0-08__ L ) 5 £ RRRRREE AR LR ;- ----------- ;-”- !t-- ||-§- T
C : : Sl
0_06__ ( S Wl O Iy Ol I I i :' """""" ;'""' 'é'" N
L . . . .
I 5 : ] o [
0.04 {51 {1 fath s s T
: : ([ T T
.02 1111y farune q,**# T
_I 11 i 11 11 i 1 11 1 .rl 11 1 L L -l
o +R : : ;
= ] ] HIMEIE
o] : : S L :
D: 1 " -m?m : A+l -";b;-l;"m -wmhr-. ; RS
: A TLEETHI :
0.95 8t T T T E s L T
i i TH 4 T4 : B
ML LT T

%39 20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


